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6. Planning Location and Transportation

(a)  Describe the major cost trade-off aspects in plant location by interpreting the 3 cost

curves (a), (b) and (¢).

Total cost per year

/

Total costs

(@

()
©

Zl

Number of plants (N)

(b)  Given that 3 plants A, B and C have been opened which have to supply 3 ware-
houses X, Y and Z, solve the respective transportation problem for shipping goods
from the plants to the warehouses by applying the minimum unit cost search heuris-
tic. Shipping costs as well as production quantities and shipment requirements are

given in the transportation tableau below:

Warehouses X v z v_.oacn.ﬂ._oz
Plants quantities
1 4 5
A S
4 3 2
B 2
2 3 4
C 3
Shipment requirements | 2 7

(¢)  Name another possible procedure to find a solution for that kind of problem. What

are the advantages and disadvantages here?

Good Luck!



